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Grand Test – IRPP-170816 

IBPS RRB PO Preliminary Grand Test –IRPP-170816 
HINTS & SOLUTIONS 

 
ANSWER KEY 

1.(1) 21.(4) 41.(4) 61.(4)

2.(2) 22.(4) 42.(1) 62.(5)

3.(2) 23.(3) 43.(1) 63.(3)

4.(3) 24.(5) 44.(5) 64.(5)

5.(1) 25.(3) 45.(4) 65.(5)

6.(3) 26.(2) 46.(2) 66.(4)

7.(4) 27.(4) 47.(2) 67.(1)

8.(1) 28.(4) 48.(3) 68.(5)

9.(2) 29.(5) 49.(2) 69.(4)

10.(3) 30.(4) 50.(3) 70.(4)

11.(1) 31.(5) 51.(4) 71.(1)

12.(4) 32.(2) 52.(3) 72.(5)

13.(3) 33.(3) 53.(4) 73.(2)

14.(2) 34.(1) 54.(4) 74.(4)

15.(3) 35.(1) 55.(4) 75.(3)

16.(2) 36.(4) 56.(1) 76.(2)

17.(3) 37.(5) 57.(2) 77.(3)

18.(2) 38.(2) 58.(3) 78.(5)

19.(1) 39.(5) 59.(4) 79.(3)

20.(5) 40.(1) 60.(1) 80.(4)
 

 

HINTS & SOLUTIONS 
 
1.(1) 

 
2.(5) 

 
3.(2) 

 
4.(3) 

 

5.(1) 

 
6-8. 

 
6.(3)   7.(4)  
8.(1)    
9-10. 

 
9.(2)   10.(3) 
11-16. 

 
11.(1)   12.(4) 
13.(3)   14.(2) 
15.(3)   16.(2) 
17-21. 

 
17.(3)   18.(2) 
19.(1)   20.(5) 
21.(4)  
22-26. 
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22.(4)   23.(3) 
24.(5)   25.(3) 
26.(2) 
 
27.(4) I. R > Q (False) 
 II. P > I (False) 
28.(4) I. J < M (False) 
 II. K  H (False) 
29.(1) I. S < Y (True) 
 II. Z Q  (False) 
30.(4) I. T > S (False) 
 II. Q  R (False) 
31.(5) I. I R  (True) 
 II. I > K (True) 
32-35. 

 
32.(2)   33.(3) 
34.(1)   35.(1) 
36.(4)   37.(5) 
38.(2)   39.(5) 
40.(1) 
41.(4) 

 
42.(1) 

 
43.(1) 

 
44.(5) 

 
45.(4) 

 
46.(2) 

 
47.(2) 

 
48.(3) 

 
49.(2) 

 

50.(3) 

 
51.(4) 

 
52.(3) 

 
53.(4) 

 
54.(4) 

 
 Share of A  

(20 4) (10 8) 847
(20 4) (10 8) (15 12) (12 12)

 

 = Rs.280 
55.(4) 

 
56.(1) 

 
57.(2) 8 men and 3 women 

  
58.(3)  

59.(4) 2x 58 x 928 58
928 x

 

x 53824 232  
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60.(1)  
61-65. 

 
61.(4) 

 
62.(5) 

 

63.(3) In PQR no. of students 
28 6000 1680

100
 

 The students study in either in science stream or 

commerce stream in PQR 
60 1680 1008

100
 

 Therefore required no. of students  

 
5 1008 420.

12
 

64.(5) 

 
65.(5) 

 
66.(4) 2007 = 50% highest 
67.(1) Avg. purchase of Onions by dealer Q  

= 4000 / 7 = 571.42. 
68.(5) (3300 / 4000) × 100 = 82.5% 
69.(4) % increase = [(750 – 500) / 500] × 100 = 50%. 
70.(4) (500 + 550 + 400) / (800 + 700 + 600) = 29/42 = 29 : 42. 

71.(1) 
1x ; y 7; x y.
2

 

72.(5) x = –6, –5; y = –6, –6; 
 Therefore x y  

73.(2) 
1 1x 1, ; y 1, ; x y
2 2

 

74.(4) x = 8; y = 7 
 Therefore x > y. 

75.(3) 
17 17 9x 2, ; y ,
3 4 5

 

 Therefore relation can't be established. 

76.(2) ? 780 ? 3.6 780 2808
3.6

 

77.(3) 
31.317 104.39

0.3
 

78.(5) 230.9 + 1389.98  1610 

79.(3) 560 + 70 = 630 

80.(4) 
7 17 5 8 7 17 8
3 5 4 3 3 4 3

 

            17 1 51 4 47
4 3 12 12

 

 


